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NEB - GRADE XII 
 

Model Question [2077 (2020)] 
 

Principles of Accounting-II 
 

ljBfyL{x¿n] ;s];Dd cfkm\g} zAbdf pQ/ lbg'kg]{5 . bfofF lsgf/fdf lbOPsf] cª\sn] k"0ff{ª\s hgfpFb5 .  

Candidates are required to give their answer in their own words as far as practicable. The 

figures in the margin indicate full marks. 

Full Marks:- 40 

Time-1.30 hrs. 

;a} k|Zgsf] pQ/ lbg'xf];\ . (Attempt all questions.)  
 

!= k|fOe]6 sDkgL / klAns sDkgLsf] s'g} b'O{ leGgtf pNn]v ug'{xf];\ .    
State any two differences between private company and public company.  2 

@= ;+rfngaf6 k|fKt sf]ifsf] cy{ :ki6 n]Vg'xf];\ .  

Clarify the meaning of funds from operation.     2 
#= kl/jt{gLo nfut tyf cw{ kl/jt{gLo nfutsf] kl/efiff lbg'xf];\ .  

Define variable and semi-variable cost.     2 
$= nfut n]vfsf s'g} b'O{ p2]Zox¿ n]Vg'xf];\ .  

Write any two objectives of cost accounting.     2 
%= Pp6f sDkgLn] ? !)) k|lt z]o/ b/sf %,))) lsQf z]o/x¿ lgDgfg';f/ ls:tf ltg]{ u/L cfj]bg cfJxfg u¥of] .  

cfj]bg ;fy ? #),  

afF8kmfF8 ;fy ?=%)  

klxnf] / clGtdls:tfdf ?= @) 

    !),))) ls:tfsf] nflu cfj]bg k|fKt eof] / jfF8kmfF8 lgDgfg';f/ ul/of] .  

 @))) lgj]bsnfO{ @))) z]o/  

^))) lgj]bsnfO{  #))) z]o/  

@))) lgj]bsnfO{  z'Go z]o/  

cfj]bg ;fy k|fKt clws /sd afF8kmfF8sf] nflu ldnfg ul/of] . !)) lsQfsf] z]o/ wgLn] ltg'{ kg]{ klxnf] / 

clGtd ls:tf /sd glt/]sf] afx]s cGo ;Dk"0f{ /sd c;'n pk/ eof] . To;}n] pQm !)) lsQfx? hkmt 

ul/of] .  
 

tof/ ug'{xf];\  i. z]o/ afF8kmFf8sf] ef}r/  

                ii. z]o/ klxnf] / clGtd ls:tf ef}r/  

           iii. z]o/ hkmtsf] ef}r/      2+2+1 

A company issued 5,000 shares of Rs. 100 each, payable as under: 

  Rs. 30 on application. 

  Rs. 50 on allotment 

  Rs. 20 on first and final call 

Application were received for 10,000 shares. The allotment were made as follows. 

To the applicants of 2,000 shares - 2,000 shares 

To the applicants of 6,000 shares - 3,000 shares 

To the applicants of 2,000 shares - nil shares 

Resolved that the excess amount received on applications would be adjusted against the 

due amount on allotment. All the called money were duly received except one 

shareholder to whom 100 shares were allotted failed to pay on first and final call and his 

share were forfeited. 

 Required entries for: 
  i) Allotment   ii) First call and final call   iii) Forfeiture 
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^= Pp6f sDkgLn] ?=$,(%,))) e'QmfgL ug]{ u/L lgDg ;DklQ / bfloTj v/Lb u¥of] .  

A company took over the following assets and liabilities at an agreed price of Rs. 4,95,000. 

hUuf tyf ejg (Land and building) Rs. 7,00,000 

kmlg{r/ (Furnitures) Rs. 1,00,000 

;fx'x¿ (Creditors) Rs. 3,05,000 

pQm v/Lb d"NonfO{ sDkgLn] ?= !)) b/sf z]o/x? c+lst d"Nodf hf/L ul/of] . (The company 
paid the purchase consideration amount by issuing shares of Rs. 100 each at par.) 

tof/ ug'{xf];\ (Required)M sf/f]af/ JofVof ljgf ;DklQ / bfloTj v/Lbsf ef}r/x¿ . (Journal entries for the 

purchase of assets and liabilities without Narration.)         2 
&= Pp6f sDkgLsf] r}q #!, @)&% sf] ;Gt'ng k/LIf0f lgDgfg';f/ 5 M 

The Trial Balance of a company as on Chaitra 31,2075 is as under: 
  

ljj/0f (Particulars) Debit Rs ljj/0f (Particulars) Credit (Rs) 

z'? df}Hbft (Opening stock) 1,00,000 ljqmL (Sales) 10,00,000 

v/Lb (Purchases) 5,00,000  C0f kq (Debenture) 2,00,000 

l:y/ ;DklQ (Fixed Assets) 4,00,000 nufgLaf6 Jofh (Interest on investments) 25,000 

cf;fdLx¿ (Debtors) 50,000 ;fx'x¿ (Creditors) 20,000 

Hofnf  (Wages) 1,00,000 gfkmf–gf]S;fgvftf (Profit & Loss A/c) 70,000 

tna (Salaries) 2,10,000 z]o/ k"FhL (Share Capital) 3,00,000 

gp7\g] cf;fdL (Bad debts) 5,000 clu|d sldzg (Advance Commission) 5000 

C0f kqsf] Jofh (Interest on Debentures) 20,000 

    

9'jfgL (carriage) 20,000 

gub (Cash) 5,500 

nufgL (Investments) 2,09,500 

hDdf (Total) 16,20,000 hDdf (Total) 16,20,000 
 

yk hfgsf/L (Additional Information): 
 

i. clGtd df}Hbft(Closing stock)  Rs. 1,00,000  

ii. l:y/ ;DklQdf ¥xf;sl§ (Depreciation on fixed assets) @ 10% 

iii. k"FhLdf !) %n] nfef+zsf] Joj:yf ug]{ (Proposed dividend on capital at 10%)  

tof/ ug'{xf];\ (Required):             2+3+1+2 

i. Jofkf/ vftf (Trading Account)  

ii. gfkmf–gf]S;fg (Proft& Loss Account)  

iii. gfkmf–gf]S;fg aFf8kmfF8 vftf (Proft& Loss Appropriation Account)  

iv. jf;nft (Balance sheet) 
 

* lgDg hfgsf/Lx¿ lbOPsf 5g\ M 

Following information are provided.  
 

;fx' (Creditors)    Rs. 70,000 

cf;fdLx¿ (Debtors)   Rs. 50,000 

;fdu|L df}Hbft (Inventory)            Rs. 60,000 

   gub (Cash)                     Rs. 30,000 

    

kQf nufpg'xf];\ (Required):  

rfn' cg'kft / t/n cg'kft  (Current Ratio and Quick Ratio)          2 
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( ljQLo n]vf cg';f/sf] d'gfkmf ?= (),))) 5 . lx;fa ldnfg ubf{ lgDg tYox¿ k|fKt eof] . (The net profit as 

shown by the financial account is Rs. 90,000 on reconciliation the following facts were 

disclosed):  

i. nfut n]vfdf clGtd df}Hbft a9L b]vfOPsf]  

(Over valuation of closing stock in cost accounting) Rs. 20,000 

ii. nfut n]vfdf ¥xf; s§L a9L pNn]v ePsf] (Depreciation overcharged in cost account) Rs. 10,000 

iii. nufgLaf6 k|fKt Jofh (interest from investment) Rs.8,000 

tof/ ug'{xf];\ (Required):           3 
nfut tyf ljQLo n]vfsf] lx;fa ldnfg ljj/0f (Reconciliation statement of Cost and Financial Account.) 

 

!)= lgDg ljj/0fx? lbOPsf 5g\ M (The following details are given.)  
            

ljj/0f (Particulars) Year I (Rs.) Year II (Rs.) 

z]o/ k'FhL (Share Capital)           3,30,000   4,40,000 

d]l;g (Machinery)             2,50,000   3,00,000 

C0f (Loan)             1,00,000 50,000 

cf;fdL (Debtors)                                            70,000   1,00,000  

df}Hbft (Stock)   1,45,000   1,75,000 

;fx'( Creditors) 60,000 85,000 

cljtl/t d'gfkmf (Retained Earning) 75,000   1,25,000 

 gub  (Cash Balance)                   1,00,000         ? 

 

yk hfgsf/L (Additional Information) : 

i. bf];|f] jif{sf] ljqmLaf6 cfDbfgL (Sales for the year II was) Rs. 6,30,000 

ii. ljqmLsf] nfut (Cost of goods sold) Rs. 4,75,000 

iii. nfefz+ e'QmfgL (Dividend paid ) Rs. 20,000 

iv. d]l;g/L v/Lb (Purchased of machinery) Rs. 1,35,000 

tof/ ug'{xf];\ (Required) M 

k|ToIf ljlwaf6 gub k|jfx ljj/0f (Cash flow statement using direct method.)      3+1+1+1 

!!= s'g} ;fdfg pTkfbg ug]{ ;+:yfsf] ut jif{sf] nfut ljj/0f lgDgfg';f/ 5g M 
A firm showed the following details of a product for the previous year. 

k|ToIf ;fdu|L (Direct Material) Rs 6,00,000  

k|ToIf Hofnf (Direct labour) Rs 4,00,000 

sf/vfgf vr{ (Factory overhead) Rs.1,60,000   

k|zf;lgs vr{ (Office overhead) Rs 2,32,000  

6]G8/ k]z ug{ lgDgfg';f/sf] cg'dfg ul/of] (The following estimation were made for submitting a tender) M 

k|ToIf ;fdu|L (Direct Material)  Rs 7,00,000  

k|ToIf Hofnf (Direct labour)  Rs 5,00,000 

d'gfkmf lah'nL d"Nosf] (Profit on sale)  25%  

ck|ToIf vr{ lgDgfg';f/ afF8kmfF8 x'g] (Overheads are allocated as under): 

a) sf/vfgf vr{ k|ToIf Hofnfsf] cfwf/df (Factory Overheads on the basis of Direct Labour) 

b) sfof{no vr{ sf/vfg nfutsf] cfwf/df (Office Overhead on the basis of Factory Cost) 

tof/ ug'{xf];\ (Required)M                           2+4 

i. utjif{sf] nfut ljj/0f (Cost sheet of last year) 

ii. 6]08/ ;L6 (Tender sheet) 

                                                                        -0-  


